Sections 4.1-4.3

Precalculus/Trig Name /C-}/
Review 2

Period

You need to be able to do questions #1-16 without using a calculat
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1. Use the given function value and the trig ide{}f
functions given that @ is in drant 1:

3 A, L @ (Ve /L
sin@ = @s@ \)fo tan@ =3 cscl = 5 cotf = 3

2. Use the given function value and the trig identities to find the values of the other 4 trig

functions: cscd=2 secl= d_g,_ v
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3. Find the exact values of the six trig

ions for angle A.
1% ‘f
& @ sin 4 = ‘W( lﬂ csc A= /;éi
cos A= / = @ secAd= @

tan 4 @ cot 4 =@
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4. Use trig identities to transform the left side of the equation into the right side
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a) _t:r(i;e b) (secl + tanf)(secd — tan 6) j
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lies under the conditions given.
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b)™cscd >0 and cos& <0
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6. Evaluate the six trig functions when '<9=?7[. Give exact values./ ™
= \ ; <'_,‘§— —-'.L.
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7. Name the trigonometric functions that are undefined for the following angles:

Quadrantal angle Undefined trig function Undefined trig function
0 Cxe ) eyt O
z iy 1
2 Tin = Sec 2
n Cse W cot T
3z 3 3
B3 tan /?E Sec 721:
8. Determine the quadrant in which each angle 1i ‘$‘ ,_%,
a) 17;’ for = b)(3.1 ) —290° T

9. Determine ’_vy_o_cgt_efrn_lnal angles (one positive and one negative) for each angle, using
# radians on part a) Ta) and d degrees on part b).

a) 25 4 2 Thositive = -52‘17;

negative =

b) 340°F
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aé];?ositive = 700"

]
negative= -2

10. Find (if possible) and simplify the complement and supplement of each angle.
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T X -(E 2 (B Qqr 2w =2
comp=-5 " & @ comp—gﬂz: ’éf 57;32'comp=é7.z g2 (X
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11. Rewrite 120° in radlan measure as a multlple of . 7[%0( > @
12. Rewrite Z—zm degree measure. ,Z‘/ X@ ) O

13. Find the radian measure of the central angle of a circle of radius 14 inches that
1ntercepts an arc of length 10 1nches

14. Find the radius of a circle with arc length of 8 in. intercepted by the central angle 2?7[
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15. If sin¢ = 2, evaluate each of the following functions:

ﬁ%s a) sin(—z)= “‘-—g— b) csc(—2)= -g @275 t)— -—,&)
) ~-S A : ///
16. MIIowi ents 1s incorrect. Explam why.

X CAN'T T)q.AN THE HYforenuse(r)
a) cos(t)=1.4 r o u\f / “ﬂ”
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b) sin€ >0 and csc 8 <0 @ " }2 BoTrn WNEgar WE

c) sin &= 140&9 'S 'H‘\.L g{y}e, SO 74 Steucy HaVE BEEAN THE Rpvq
d) 150° is a quadrantal angle )52) is n QuAbRANT Ty Aot on) AN A’KIJ‘

éo,
&) 4—”=210° 177/( = 2450

t)@SZG rounded to the nearest tenth is 43.4 I T's ¥3.2 Pécawse HuyvbResus
Piiee s wor 5 or BISGER.

g) a calculator shows that &= 59.008° so rounded to the tenths place 6= 59° @
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You should be able to do the following questions with a calculator, 7

= 5 ™ To
17. A bicycle wheel with a radius of (12 mches akes\2.5 revolutions per second? Find the
' speed of the bicycle in m1les per hour? nd your answer to the nearest tenth.
L/Mﬂﬁm Aﬂeuuasbesp Rubies) .
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18. The circular blade of a saw has a diameter of 8 inches and rotates at 2400 revolutions
per minute.
a) Find the angular speed inr 1ans er second _
=(§0rr wf
S_ €c ge =

b) Find the exact linear velocity of the saw teeth (on the rim of the saw blade) in feet
per second as the saw teeth contact the wood being cut. :

[inear SM A6 ure SPeed - rediss
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19. A support wire for a tree maklng an gle of 53° w1th tﬁe ground is strercned from a
stake in the ground 16 feet from the base of the tree to a point on the tree 5 feet below

- its top.
A

\  a) How long is the wire to the nearestient foot?

e
h Cos 3 “+ (/\/_:2(05:&5755‘
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/évﬁ— b) How tall is the tree to the neares@ﬁf a foot?
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